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> TODAY'S AGENDA:

e Continue working on Khan Academy
« Mission: Engage NY Module 4
> Slope-Intercept Equation from Two Points

« Today's Objective:
> Students will be able to graph a line, given
the equation of the line in Slope-Intercept
Form

« Today's Standards:

> 8.EE.C.7,8.EE.C.7b, 8.F.A.1, 8.F.A.3, 8.F.B.4, HSF.LE.A.2
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Slope-Intercept Equation from Two Points

y:mx-l-
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Steps to find the Equation of a Line, Given

Two Points
1. Find the slope (m) using: m = y>-y;

Xo=-X1
2. Substitute slope from Step 1, intfo y=mx+b

3.Substitute the coordinates from one of the points into
Yy = mx+b

4 Solve for b

5.Rewrite equation in slope-intercept form by substituting
m from Step 1 and b from Step 4.
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Complete the equation of the line through (—8, 8) and (1, —10).

Use exact numbers. (D F—-](\a S(DPC M— YL’ //

e —X
] ZX (8 :__yD_B :—/BN _7_<,§— /

—+=8 9 -

@Y:—ZXHD
® 3 :-Z<-8>‘\’b
8—_!(9‘\'\':,» }/—__—_—Z)(—g

G -1k

A

March 11, 2019



13_Khan Work-Slope-Intercept Equation from Two Points.notebook March 11, 2019

Complete the equation of the line through (4, —8) and (8, 5).
Use exact numbers.
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Complete the equation of the line through (3, —1) and (4, 7).
Use exact numbers. —_

OM=Y27) F-=I B g
v=[BX-2 X Y- |
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